S — S-2273

SECOND YEAR HIGHER SECONDARY
SAY /IMPROVEMENT EXAMINATION, JUNE - 2023

Part — 111
ACCOUNTANCY WITH COMPUTERISED ACCOUNTING
Maximum : 60 Scores Time : 2 Hours
(Hearing Impaired) Cool-off time : 15 Minutes

4 N

General Instructions to Candidates :

e Thereisa ‘Cool-off time’ of 15 minutes in addition to the writing time.

e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.

e Read questions carefully before answering.

e Read the instructions carefully.

e Calculations, figures and graphs should be shown in the answer sheet itself.

e Malayalam version of the questions is also provided.

e Give equations wherever necessary.

e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART - A

(ACCOUNTING)

I.  Answer any 4 questions from 1 to 5. Each carries 1 score. 4x1=4)
1. A document containing terms and conditions of partnership as agreed by partners.
(a) Profit and Loss Account (b) Pass Book

(¢) Partnership Deed (d) Cash Book

2. A, B and C were partners sharing profit in the ratio of 3 : 2 : 1. “C’ retired. New ratio of

AandB :
(@ 3:1 (b) 3:2
() 2:3 (d 1:2

3. Ondissolution of the firm, partners capital accounts are closed through :
(a) Realisation Account (b) Revaluation Account

(¢) Cash/Bank Account (d) Capital Account

4. Dissolution of a firm leads to :
(a) Formation of business (b) Closure of business

(c) Amalgamation of business (d) Discovery of business

5. Amount due to deceased partner is transferred to
(a) Executor’s Loan Account (b) Loan Account

(c) Capital Account (d) Revaluation Account

S-2273 2



PART - A

(ACCOUNTING)
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II. Answer all questions from 6 to 7. Each carries 2 scores. 2x2=4)
6.  Complete the following series on rules applicable in absence of partnership deed.

(a) Sharing of profitorloss : 1:1

(b) Interest on capital o7

(¢) Interest on drawings C?

7. P, Q and R were partners sharing profit in the ratio of 5 : 3 : 2. On R’s retirement P and

Q decided to continue the firm in future ratio of 5 : 3. Calculate Gaining ratio of P and

Q.

ITII. Answer any 2 questions from 8 to 10. Each carries 3 scores. 2x3=06)

8. A and B are partners sharing profit in the ratio of 7 : 6. They admit C into partnership
agreeing to share future profit in the ratio of 4 : 5 : 4. Calculate sacrificing ratio of

A and B.

9.  Complete the following table showing differences between Fluctuating capital method

and Fixed capital method :

Fluctuating Capital Method Fixed Capital Method

(a) 1 Account

(b) Adjustments are in Current Accounts

(c) Capital Account will appear in

Balance Sheet
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10. Complete the following worksheet on differences between Realisation Account and

Revaluation Account :

Basis Revaluation Realisation Account
Preparation Admission retirement death
Expenses Shown
Termination | Not terminated

IV. Answer all questions from 11 to 12. Each carries 4 scores.

11. Compute the value of goodwill on the basis of 4 years purchase of last 5 years average

profit.
Year 2017 2018 2019 2020 2021
Profit %) | 10,000 | 20,000 | 30,000 | 40,000 | 50,000

12. A, B and C were partners in a firm. B retired from the firm on 1-1-2018, T 60,000 due

to him. A and C promise to pay in 3 equal annual instalments together with interest @

10% p.a. prepare B’s Loan Account for 3 years.

V. Answer all questions from 13 to 14. Each carries S Scores.

13.  Asha, Sajini and Manju were partners sharing profit in the ratio of 5 : 3 : 2. On Sajini’s
retirement, Asha and Manju decided to continue the firm in future ratio of 5 : 3. They

valued goodwill of the firm at ¥ 8,00,000. Record journal entry for above transaction.

S-2273
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14. Complete the capital account of Aparna :

Dr Aparna’s Capital A/c Cr
Particulars 4] Particulars 4]
To By Balance B/d 3,00,000
P/L (Appro) 1,50,500

Hint : Interest on capital ¥ 5,000, Salary ¥ 7,500, Drawings ¥ 60,000, Interest on

drawing < 3,000.

VI. Answer any 1 question from 15 to 16. Carries 8 scores. (1x8=38)

15. Leena and Leeba are partners sharing profit and loss equally. Their Balance Sheet as on

31-12-2021 were as follows :

Liabilities (9] Assets (9]
Creditors 12,000 | Cash 10,000
Reserve 10,000 | Debtors 20,000
Capitals : Stock 28,000

Leena 38,000 | Land 42,000
Leeba 40,000
1,00,000 1,00,000
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16.  Anu, Binu and Cinu were partners sharing profit in the ratio of 3 : 2 : 1. They agreed to

dissolve their firm on 31-12-2021. As on that date, their Balance Sheet stood as follows :

Liabilities 4] Assets 4]
Creditors 88,000 | Cash 42,000
Capitals : Debtors 78,000

Anu 1,00,000 | Stock 60,000
Binu 60,000 | Machinery 1,00,000
Cinu 32,000

2,80,000 2,80,000

Anu agreed to take over machinery at an agred value of ¥ 80,000. A sum of ¥ 63,000

could be realised from debtors. Stock was sold for ¥ 46,000 and creditors were paid at

T 84,000. Expenses on realisation were % 3,000. Prepare :
(a) Realisation Account
(b) Partners Capital Account

(¢) Cash Account

They agreed to admit Bindhu into the firm with 1/4 share in future profit and following

were agreed upon :

(1) Bindhu contributed ¥ 20,000 as capital and ¥ 80,000 as her share of goodwill.

(1) Stock was valued at T 26,000.

(111) Land found increased by 10%.

(iv) Provide 5% provision on doubtful debts.
Prepare :

(a) Revaluation Account

(b) Partners Capital Account

(c) New Balance Sheet
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PART -

B

(COMPUTERISED ACCOUNTING)

VII. Answer any 3 questions from 17 to 20. Each carries 1 score.

17. A logical sequence of action to perform a task.

(a) Procedure

(c) Hardware

18. Intersection of row and column.

(a) Reference

(¢) Data

19. Find the odd one out
(a) PMT

(c) DB

20. Find the odd one out

(a) Closing stock

(¢) Profitand Loss Account

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

Data

Software

Cell

Range

PV

FV

Opening stock

Direct expenses

VIII. Answer the question no. 21, which carries 2 scores.

21. Complete the following table :

Field Name Field Type
Emp Id Text
Emp Basic Pay
Emp Name

S-2273
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PART - B
(COMPUTERISED ACCOUNTING)
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Field Name Field Type
Emp Id Text
Emp Basic Pay
Emp Name
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IX. Answer the question 22 and 23. Each carries 3 scores.

22.  Write the formula to calculate :

(a) DA
(b) HRA
(¢) Gross
Hint : DA 7% of BP, HRA 4% of B.P.
A B C D
BP HRA DA Gross
10,000 ? ? ?

23.  Write any three advantages of graphs and charts.

X. Answer the question 24, which carries 4 scores.

24.  Write any four pillars of computerised Accounting System.

XI. Answer 1 question from 25 to 26. Carries S scores.

25. Classify the following functions into suitable heads :

(a) COUNT
(b) SUM

(c) COUNTIF
(d) SUMIF
(e) COUNTA
Statistical :
Mathematical :

26. Complete the following table :

Functions Usage Function Key
Receipts F4
Payments by Cash or Cheque F5

Sales

Cash/Credit sale of goods

Purchase

S-2273
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24.

XI.

25.

26.
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(a) DA
(b) HRA
(¢) Gross
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A B C D
) BP HRA DA Gross
2. 10,000 ? ? ?
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Statistical :
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